
�� �� �� �� �� � ��

	
 ��
 �� � ��

�� �� ��� ��� �

�� ���  !

" #$% &'( ( $

" #)* ' % &$ + '

" ,% -). ) % / ' ) ( ' & &' &. '* $ &) ) % 0* ). ' /$ 1% )

" ,% -). ) % / ' ) ( ' & &' &. '* $ &) )2 $* $% ' /$ 1% ) 3$4 '. $ '5 $2 )

" ,% -). ) % / ' ' 6 6. 1( ( $* ' &' &. '* $ &) ( $* 02 ' /$ 1% ) ( & 1 + '( &$ + '

�� �� ��� ��� 7

8 ! �� 9 : ; !< � :  ! = 9 : ; ! < � :   ! �> ?@ A < B

C% ' ( )* 62 $ +) % 1 &' /$ 1% ) D. 'E + ' 6). '( ( ). /$ 1% $ + 1% 3$ /$ 1% '2 * ) % &) $% 3$ 6) % 3) % &$

) F 0$% 3$ 6). ( 6) +$E +G ) 3$ 3$( &. $5 0 /$ 1% $ + 1% 3$ /$ 1% '2 $ + 1* 62 ) &)

#$% &'( ( $H
0% $% ( $ )* ) 3$ % 1 3$ I 0% 1 6). 4 '. $ '5 $2 )

0% D. ' - 1 3$. ) & & 1 ' +$ +2 $ + 1 J2 $% K L M$%N 0) % / ' 3$. ) & &'* ) % &)PO Q0% ' 3$( &. $5 0 /$ 1% ) + 1% 3$ /$ 1% '2 ) 6). 1 D% $ % 1 3 1 3 ' &$ $ ( 0 1$ D) % $ & 1. $HR ST U VW XYZ [\] S T U ^ ^

_ )2 + '( 1 6$a` 0( )* 62 $ +) I 3$( &. $5 0 /$ 1% ) + 1% 3$ /$ 1% '2 ) . ' 6 6. ) ( ) % &' &' + 1* )

0% ' &'5 )2 2 ' 3)2 2 ' 6. 15 '5 $2 $ &` ' + 1% 3$ /$ 1% '2 ) Jbc d Q 3 ' &' 2 '

3$( &. $5 0 /$ 1% ) ( 0 T U 6). 1 D% $ + 1* 5 $% ' /$ 1% ) 3$4 '2 1. $ '( ( 0% &$ 3 ' $ D) % $ & 1. $

�� �� ��� ��� e

f < !g h� ?

i ' & 1 6 12 1 D$ ' 3)2 2 ' . ) &) + 1 3$E + ' '( ( ). /$ 1% $ 3$ $% 3$ 6) % 3) % / ' + 1% 3$ /$ 1% '2 ) H

Weather Cavity

Toothache Catch

j Z X\k Z Y ` ) $% 3$ 6) % 3) % &) 3 '2 2 ) '2 &. ) 4 '. $ '5 $2 $

l m m\k Xnk Z ) o X\ nk ( 1% 1 + 1% 3$ /$ 1% '2 * ) % &) $% 3$ 6) % 3) % &$ 3 ' &' o Xpq \ r

�� �� ��� ��� �



f < !g h� ?

# 1% 1 '2 2 '4 1. 1 I $2 4 $ +$% 1 � 1 G % +G $ '* ' 6). 3$. ) +G ) $2 * $ 1 '2 2 '. * ) � � XY � ` )

) % &. ' & 1 $% - 0% /$ 1% ) I* ' 2 ' 4 $ +$% ' � '. � % 1% +G $ '* '� �2 + 0% ) 4 12 &) 2 �'2 2 '. * ) ` )

' & &$4 ' & 1 3 ' 6$ + + 12 ) ( + 1( ( ) 3$ &). . )* 1 & 1� b �` ) 0% 2 ' 3. 1 $% + '( ' 	


 '. $ '5 $2 $H � � Y 
 � XY I� XY \ k � � X� Z I � � XY � I� mk [ o X � �] I� XY r o X � �]

i ' & 1 6 12 1 D$ ' 3)2 2 ' . ) &) . $N ) & &) + 1% 1( +) % / ' M + ' 0( '2 )PO H

� C% 2 ' 3. 1 6 0` 1 ' & &$4 '. ) 2 �'2 2 '. * )

� C% &). . )* 1 & 1 6 0` 1 ' & &$4 '. ) 2 �'2 2 '. * )

� i �' & &$4 ' /$ 1% ) 3)2 2 �'2 2 '. * ) 6 0` 1 $% 3 0. . ) � '. � ' +G $ '* '. )

� i �' & &$4 ' /$ 1% ) 3)2 2 �'2 2 '. * ) 6 0` 1 $% 3 0. . ) � 1 G % ' +G $ '* '. )

�� �� ��� ��� �

f < !g h� ?

.001

P(B)

.002

P(E)

Alarm

Earthquake

MaryCallsJohnCalls

Burglary

B

T
T
F
F

E

T
F
T
F

.95

.29

.001

.94

P(A|B,E)

A

T
F

.90

.05

P(J|A) A

T
F

.70

.01

P(M|A)

�� �� ��� ��� �

� ? g h : � � !� � :

C% ' bc d 6). 4 '. $ '5 $2 $� 1 12 ) ' % ) T U + 1% � D) % $ & 1. $� 1 12 ) ' % $ G '

B E

J

A

M

��� . $ D G ) 6). 2 ) + 1* 5 $% ' /$ 1% $ 3$ 4 '2 1. $ 3) $ D) % $ & 1. $

� D% $ . $ D ' . $ +G $ ) 3) 0% % 0* ). 1 � 6). T U�� p Z Y m

J$2 % 0* ). 1 6). T U��  X �] m ` ) !" � Q

#) 1 D% $4 '. $ '5 $2 ) % 1% G ' 6$ ` 0 3$ � D) % $ & 1. $ I2 ' . ) &) + 1* 62 ) &' . $ +G $ ) 3) # S [$ �%� ^% 0* ). $

b $ 1` ) I +. ) ( +) 2 $% ) '. * ) % &) + 1% [ I4 ( � # S ��& ^ 6). 2 ' 3$( &. $5 0 /$ 1% ) + 1% D$ 0% &'

+ 1* 62 ) &'

c ). 2 ' . ) &) 6. ) +) 3) % &) I ! ' ! '( ' � ' � � ! ) % 0* ). $ J4 ( � ��* " ! � + ! Q

�� �� ��� ��� ,

- !g :  �� . : / � ?0 : � !

i ' ( )* ' % &$ + ' D2 15 '2 ) 3) E % $( +) 2 ' 3$( &. $5 0 /$ 1% ) + 1% D$ 0% &' + 1* 62 ) &'

B E

J

A

M

+ 1* ) $2 6. 1 3 1 & & 1 3)2 2 ) 3$( &. $5 0 /$ 1% $ + 1% 3$ /$ 1% '2 $ 2 1 + '2 $H

R ST 1 23 3 3 2 T & ^ � 4 & U5 1 R S T U VW XYZ [ \] ST U ^ ^

6� ) � I W S67 � 7 X7 8 97 8Z ^

�

�� �� ��� ��� :



- !g :  �� . : / � ?0 : � !

i ' ( )* ' % &$ + ' D2 15 '2 ) 3) E % $( +) 2 ' 3$( &. $5 0 /$ 1% ) + 1% D$ 0% &' + 1* 62 ) &'

B E

J

A

M

+ 1* ) $2 6. 1 3 1 & & 1 3)2 2 ) 3$( &. $5 0 /$ 1% $ + 1% 3$ /$ 1% '2 $ 2 1 + '2 $H

R ST 1 23 3 3 2 T & ^ � 4 & U5 1 R S T U VW XYZ [ \] ST U ^ ^

6� ) � I W S67 � 7 X7 8 97 8Z ^

� W S 6 V X ^ W S � V X ^ W S X V 8 9 2 8Z ^ W S 8 9 ^ W S 8Z ^

�� �� ��� ��� �

- !g :  �� . : � ? . : � !

#)* ' % &$ + ' 2 1 + '2 ) H 1 D% $ % 1 3 1 ` ) + 1% 3$ /$ 1% '2 * ) % &) $% 3$ 6) % 3) % &)

3 ' $ ( 0 1$ % 1% 3$( +) % 3) % &$ 3 ' &$ $ D) % $ & 1. $

. . .

. . .U1

X

Um

Yn

Znj

Y1

Z1j

d ) 1. )* ' H #)* ' % &$ + ' 2 1 + '2 ) � ( )* ' % &$ + ' D2 15 '2 )

�� �� � �� ��� � �

� :@ A ?� 0 � :  A ! �

� D% $ % 1 3 1 ` ) + 1% 3$ /$ 1% '2 * ) % &) $% 3$ 6) % 3) % &) 3 ' & 0 & &$ D2 $ '2 &. $ 3 ' & 1 $2 ( 0 1

� '. K 14 5 2 ' % K) &H D) % $ & 1. $ � E D2 $ � D) % $ & 1. $ 3) $ E D2 $

. . .

. . .U1

X

Um

Yn

Znj

Y1

Z1j

�� �� � �� ��� � �

� ? < �@ � � � ?  !� � 8 ! �� 9 : ; ! < � :  !

_ ) +) ( ( $ &` ' 3$ 0% * ) & 1 3 1 &'2 ) +G ) 3 ' &' 0% ' ( ). $ ) 3$ '( ( ). /$ 1% $ 3$ $% 3$ 6) % 3) % / '

+ 1% 3$ /$ 1% '2 ) 2 1 + '2 * ) % &) + 1% &. 12 2 '5 $2 $ I D '. ' % &$( + ' 2 ' ( )* ' % &$ + ' D2 15 '2 ) 3) ( $ 3).�

' &'
�� # +) D2 $ ). ) 0% 1. 3$% '* ) % & 1 3$ 4 '. $ '5 $2 $ T 1 23 3 3 2 T &	� 
 1. q � � & 1 [

' D D$ 0% D$ T U '2 2 ' . ) &)

( )2 ) /$ 1% ' D) % $ & 1. $ 3 ' T 1 23 3 3 2 T U� 1 &'2 $ +G )

R ST U VW XYZ [\] S T U ^ ^ � R ST U VT 1 2 3 3 3 2 T U� 1 ^


 0) ( &' ( +)2 &' 3$ D) % $ & 1. $ D '. ' % &$( +) 2 ' ( )* ' % &$ + ' D2 15 '2 ) H

R ST 1 23 3 3 2 T & ^ � 4 & U5 1 R S T U VT 1 2 3 3 3 2 T U� 1 ^ J +G ' $% . 02 ) Q

� 4 & U5 1 R S T U VW XYZ [ \] ST U ^ ^ J 6). + 1( &. 0 /$ 1% ) Q

�� �� � �� ��� � 7



f < !g h� ?

# 0 6 6 1% $ '* 1 3$ ( +) D2 $ ). ) 2 � 1. 3$% ) � I� I � I � I�

MaryCalls

JohnCalls

W S� V� ^ � W S� ^ 	

�� �� � �� ��� � e

f < !g h� ?

# 0 6 6 1% $ '* 1 3$ ( +) D2 $ ). ) 2 � 1. 3$% ) � I� I � I � I�

MaryCalls

Alarm

JohnCalls

W S� V� ^ � W S� ^ 	 _ 1

W S � V� 2� ^ � W S � V� ^ 	 W S � V� 2� ^ � W S � ^ 	

�� �� � �� ��� � �

f < !g h� ?

# 0 6 6 1% $ '* 1 3$ ( +) D2 $ ). ) 2 � 1. 3$% ) � I� I � I � I�

MaryCalls

Alarm

Burglary

JohnCalls

W S� V� ^ � W S� ^ 	 _ 1

W S � V� 2� ^ � W S � V� ^ 	 W S � V� 2� ^ � W S � ^ 	 _ 1

W S � V � 2� 2� ^ � W S � V � ^ 	W S � V � 2� 2� ^ � W S � ^ 	

�� �� � �� ��� � �

f < !g h� ?

# 0 6 6 1% $ '* 1 3$ ( +) D2 $ ). ) 2 � 1. 3$% ) � I� I � I � I�

MaryCalls

Alarm

Burglary

Earthquake

JohnCalls

W S� V� ^ � W S� ^ 	 _ 1

W S � V� 2� ^ � W S � V� ^ 	 W S � V� 2� ^ � W S � ^ 	 _ 1

W S � V � 2� 2� ^ � W S � V � ^ 	� ) (

W S � V � 2� 2� ^ � W S � ^ 	 _ 1

W S� V � 2 � 2� 2� ^ � W S� V � ^ 	W S� V � 2 � 2� 2� ^ � W S� V � 2 � ^ 	
�� �� � �� ��� � �



f < !g h� ?

# 0 6 6 1% $ '* 1 3$ ( +) D2 $ ). ) 2 � 1. 3$% ) � I� I � I � I�

MaryCalls

Alarm

Burglary

Earthquake

JohnCalls

W S� V� ^ � W S� ^ 	 _ 1

W S � V� 2� ^ � W S � V� ^ 	 W S � V� 2� ^ � W S � ^ 	 _ 1

W S � V � 2� 2� ^ � W S � V � ^ 	� ) (

W S � V � 2� 2� ^ � W S � ^ 	 _ 1

W S� V � 2 � 2� 2� ^ � W S� V � ^ 	 _ 1

W S� V � 2 � 2� 2� ^ � W S� V � 2 � ^ 	� ) (
�� �� � �� ��� � ,

f < !g h� ?

MaryCalls

Alarm

Burglary

Earthquake

JohnCalls

� ) +$ 3). ) 2 �$% 3$ 6) % 3) % / ' + 1% 3$ /$ 1% '2 ) ` ) 3$ � +$2 ) % )2 2 ) 3$. ) /$ 1% $ % 1% + ' 0( '2 $


 '2 0 &'. ) 2 ) 6. 15 '5 $2 $ &` ' + 1% 3$ /$ 1% '2 $ ` ) 3$ � +$2 ) $% 3$. ) /$ 1% $ % 1% + ' 0( '2 $

i ' . ) &) ` ) * ) % 1 + 1* 6 ' & &' H ! ' � '( ' � '( � ! + % 0* ). $ % ) +) ( ( '. $

�� �� � �� ��� � :

f < ! g h� ?� � � : /  ? < � h !@ :� � ? g ?0 � � !

�4 $ 3) % / ' $% $ /$ '2 ) H ' 0 & 1 % 1% 6 '. &)


 '. $ '5 $2 $ + 1% &. 12 2 '5 $2 $ J$% 4 ). 3) Q I4 '. $ '5 $2 $ M. 1 & & 1 I 3 ' ' D D$ 0( &'. )PO J$% '. ' % +$ 1 Q


 '. $ '5 $2 $ % '( + 1( &) J$% D. $ D$ 1 Q '( ( $ + 0. ' % 1( &. 0 & & 0. ' ( 6 '. ( ' I. $ 3 0 + 1% 1 $ 6 '. '* ) &. $

lights

no oil no gas starter
broken

battery age alternator
  broken

fanbelt
broken

battery
  dead no charging

battery
    flat

gas gauge

fuel line
blocked

oil light

battery
 meter

car won’t
    start dipstick

�� �� � �� ��� � �

f < !g h� ? � : < < � .� @ : � � ?  ! � ! � � � :� � ? g ?0 � � !

SocioEcon
Age

GoodStudent

ExtraCar
Mileage

VehicleYear
RiskAversion

SeniorTrain

DrivingSkill MakeModel

DrivingHist

DrivQuality
Antilock

Airbag CarValue HomeBase AntiTheft

Theft
OwnDamage

PropertyCostLiabilityCostMedicalCost

Cushioning

Ruggedness Accident

OtherCost OwnCost

�� �� � �� ��� 7 �



� ? g h� �� � � �  � !@ !  � :


 0). �( )* 62 $ +$H + '2 + 12 '. ) 2 ' 6. 15 '5 $2 $ &` ' ' 6 1( &). $ 1. $ * '. D$% '2 ) R S T U V� � � ^

6� ) � I W S� m � X] V � X � 
Z � Z � �\ r 2� q 
k \] � m [ 2� \ XY \] �  X �] Z ^


 0). � + 1% D$ 0% &$4 ) H R S T U 2 T � V� � � ^ � R ST U V� � � ^ R S T � VT U 2 � � � ^

� ) +$( $ 1% $ 1 & &$* '2 $ H . ) &$ 3$ 3) +$( $ 1% $ $% +2 0 3 1% 1 $% - 1. * ' /$ 1% $ 3$ 0 &$2 $ &` ' �$% -). ) % / ' 6. 15 '5 $2 $( &$ + ' . $ +G $ ) ( &' 6). W S m �\ n m �Z V Xn \q m [ 2Z p q 	Z [ nZ ^


 ) + 0 6). 1 $% - 1. * ' /$ 1% ) H F 0 '2 ) )4 $ 3) % / ' ( $ 3)4 ) +). + '. ) 	

�% '2 $( $ 3)2 2 ' ( ) % ( $ &$4 $ &` ' H F 0 '2 $ 4 '2 1. $ 3$ 6. 15 '5 $2 $ &` ' ( 1% 1 $ 6$ ` 0 +. $ &$ +$ 	

# 6$ ) D ' /$ 1% ) H 6). +G �) G 15 $( 1 D% 1 3$ 0% % 0 14 1* 1 & 1. ) 3$ '4 4 $ '* ) % & 1 	

�� �� � �� ��� 7�

�  � !@ !  � : �@ : g � � ! !  � g !@ : � � ?  !

� 1 3 1 0% 6` 1 6$ ` 0 - 0. 5 1 6). * '. D$% '2 $ / / '. ) '2 + 0% ) 4 '. $ '5 $2 $ 3 '2 2 ' 3$( &. $5 0 /$ 1% )

+ 1% D$ 0% &' ( ) % / ' + 1( &. 0$. ) ) ( 62 $ +$ &'* ) % &) 2 ' ( 0 ' . ' 6 6. ) ( ) % &' /$ 1% )


 0). �( )* 62 $ +) ( 02 2 ' . ) &) 3)2 2 �'2 2 '. * ) H

B E

J

A

M

R S � V6 2 � ^� R S � 2 6 2 � ^
 W S 6 2 � ^� � R S � 2 6 2 � ^� �� �� � R S � 2Z 2 X 2 6 2 � ^


 $( +. $ & & 0. ' 3$ ) % &. ' &) 3)2 2 ' 3$( &. $5 0 /$ 1% ) + 1% D$ 0% &' 0( ' % 3 1 $2 6. 1 3 1 & & 1 3$ ) %�

&. ' &) 3$ b c dH

R S � V6 2 � ^� �� �� � R S � ^ W SZ ^ R S X V � 2Z ^ W S6 V X ^ W S � V X ^� � R S � ^� � W SZ ^� � R S X V � 2Z ^ W S6 V X ^ W S � V X ^

�% 0* ). ' /$ 1% ) . $ + 1. ( $4 ' 3) 6 &G� E . ( &H # S [ ^ $% ( 6 ' /$ 1 I # S 	 & ^ $% &)* 6 1

�� �� � �� ��� 7 7

� � / ? @ � �g ? � � !  � g !@ : � � ?  !

� �� ��� �� �� ��� � ! " #�$ % &' () *+ *,- ./ + � �/ � 01 23 456 3 78 5 3 9: 9; <6 )

� � = � � 0> ) * 5? < @ 8 <6 A ; 1 6 31 7B <

+ * 9 7 4 <6 ; < 2 ; 1 B 8 < 4C 96 ; 1 6 31 7 B < 4D

,- *1 E1 A < 431 : : < 5F 96G F 3 5? ; 1 6 31 7 B < 4 HI JK D K L

M N) OP 1 2 3 456 3 7 8 5 3 9: 9; <6 ) * 3 : 3 5 31 B B A <Q R 5 A� �/ +S �T ; 1 B 8 <U V 9C ) W �

<X 5 <: 2 + F 3 5 ? ; 1 B 8 <U VC 96 )

M NU V OP �� ��� � ! � $ %Y Y (Z  � & [, - \ *+ ./ + � �/ � ] # ��  Y "^� ( M NI O .

� �� ��� �� �� ��� � ! � $ %Y Y (_`a b *+ ./ + � �/ � 01 6 <1 B : 8 Q 7 <6

� � � �c ! de (_`a b . � T + � / + � �/ � fg h

i P j " � &! (_`a b .� � i ? 1 4 ; 1 B 8 < k 3 : +

� T + � / + � �/ � l Nm n l o Np O Oq �� �� � � ! � $ % Y Y (r� &! (_`a b . *+ .+s 0 + / + � �/ � t u l Nm n l o N p O Oq �� �� � � ! � $ % Y Y (r� &! (_`a b . *+ u .F ? <6 < + u 3 4 + <X 5 <: 2 < 2 F 3 5 ? pv m

�� �� � �� ��� 7 e

� � 0 !@ ? � � � : �� � : � � ?  !

i �) % 0* ). ' /$ 1% ) ` ) $% ) � +$ ) % &) H + '2 + 12 $ . $ 6) & 0 &$

6� ) � I + '2 + 12 ' W S 6 V X ^ W S � V X ^ 6). 1 D% $4 '2 1. ) 3$ Z

P(j|a)
.90

P(m|a)
.70 .01

P(m|    a)

.05
P(j|    a) P(j|a)

.90

P(m|a)
.70 .01

P(m|    a)

.05
P(j|    a)

P(b)
.001

P(e)
.002

P(   e)
.998

P(a|b,e)
.95 .06

P(   a|b,   e)
.05
P(   a|b,e)

.94
P(a|b,   e)

�� �� � �� ��� 7�



�  � !@ !  � : �@ : g � � ! ! �� g �  : � � ?  ! � � � :@ � :0 � � !

�2 $* $% ' /$ 1% ) 3$4 '. $ '5 $2 ) H )� ) & & 0 '. ) 2 ) ( 1* * ) 3 ' 3) ( &. ' ' ( $% $( &' I* )* 1. $ / / '. ) $ . $( 02 &' &$ $% &). * ) 3$ J -' & & 1. $ Q 6). )4 $ &'. ) 3$ . $ + '2 + 12 '. 2 $

R S � V6 2 � ^� � R S � ^� �� ��
� � W SZ ^� �� ��
� � R S X V � 2Z ^� �� ��
W S6 V X ^� �� ��
W S � V X ^� �� �	� � R S � ^� � W SZ ^� � R S X V � 2Z ^ W S6 V X ^  	 S X ^� � R S � ^� � W SZ ^� � R S X V � 2Z ^  � S X ^  	 S X ^� � R S � ^� � W SZ ^� �  � S X 2 9 2Z ^  � S X ^  	 S X ^� � R S � ^� � W SZ ^  �
 � � 	 S 9 2Z ^ J)2 $* $% ' � Q� � R S � ^  
 � 
 � � 	 S 9 ^ J)2 $* $% ' � Q� �  � S 9 ^�  
 � 
 � � 	 S 9 ^

�� �� � �� ��� 7 �

f �� g �  : � � ?  ! � � � :@ � :0 � � !� ? h !@ : � � ?  � 0 : < !

�2 $* $% '. ) 0% ' 4 '. $ '5 $2 ) 3 ' 0% 6. 1 3 1 & & 1 3$ -' & & 1. $H�� * 0 14 ). ) $ -' & & 1. $ + 1( &' % &$ '2 3$ - 0 1. $ 3)2 2 ' ( 1* * '	� ' D D$ 0% D). ) 2 ) ( 1 & & 1* ' &. $ +$ '2 6. 1 3 1 & & 1 M 6 1$% &
 $( )PO 3) $ -' & & 1. $ . $* ' % ) % &$

� �  1� $ $ $ �  � �  1� $ $ $ �  U� �  U � 1� $ $ $ �  � �  1� $ $ $ �  U�  �
 �

'( ( 0* ) % 3 1 +G )  1 23 3 3 2  U% 1% 3$ 6) % 3 ' % 1 3 ' T

c . 1 3 1 & & 1 6 1$% &
 $( ) 3$ -' & & 1. $  1 )  � H

 1 S� 1 23 3 3 2 � � 2 r 1 23 3 3 2 r � ^�  � S r 1 23 3 3 2 r � 2� 1 23 3 3 2� � ^�  S � 1 23 3 3 2 � � 2 r 1 23 3 3 2 r � 2� 1 23 3 3 2� � ^c � ) � I  1 S X 2 9 ^�  � S 9 2n ^ �  S X 2 9 2n ^
�� �� � �� ��� 7 �

� � / ?@ � �g ? � � ! �� g �  : � � ?  ! � � � :@ � :0 � � !

� �� ��� �� �Y "� "�  ! " #�$ % &' () *+ *,- ./ + � �/ � 01 23 456 3 78 5 3 9: 9; <6 )

� � = � � 0> ) * 5 ? < @ 8 <6 A ; 1 6 31 7B <

+ * <; 3 2 <: � < 4 R < �3� < 2 1 41 : <; <: 5

,- *1 7 <B 3 <C : < 5F 96G 4 R < �3 C A3 : �� 93 : 5 2 3 456 3 7 8 5 3 9: � NI � �� � � �I � O

�` � !a bP "#$ _`a bP r� %� � &� (Z  � & [,- \ .� �/ +S �T _`a � � _`a b W �

�` � !a bP "&  '� $ j '! # � N_`a �+ O n �` � !a b #� � _`a 3 41 ? 3 2 2 <: ; 1 6 31 7 B < � T + � �` � !a b P ( �� $ ) �! (_`a * �` � !a b ./ + � �/ � ] # ��  Y "^� (* # "� ! + " &� $ * � #, � '! ( �` � !a b . .

�� �� � �� ��� 7 ,

- :@ � :0 � �� � @ @ � � !� :  ��

b 1% ( $ 3). $ '* 12 ' F 0). � W S� mk [ o X � �] V � � Y 
 � XY r � \ Y �Z ^

B E

J

A

M

W S� V 9 ^ � � W S 9 ^. � W SZ ^. � W S X V 9 2Z ^ W S� V X ^. / W S � V X ^

i ' ( 1* * ' ( 0 � ` ) 0 D 0 '2 ) ' � �� ` ) 01 1 02 �34 5 6 � 6). 2 ' F 0). �

d G* �H 7 ` ) $. . $2 )4 ' % &) ' * ) % 1 +G ) 7 8 � [ nZ ] \ mY ] S9 T :; � ^


 0$ I T � � mk [ o X � �] I � � 9 � � Y 
 � XY r : I )

� [ nZ ] \ mY ] S 9 T :; � ^ � 9 � � XY � 2� XY \k � � X� Z :

F 0$% 3$ � ` ) $. . $2 )4 ' % &)

Jb 1% -. 1% &'. ) + 1% 5 ' + K 
 '. 3 +G ' $% $% D ' 6 '. &$. ) 3 '2 2 ' F 0). � $% <� + 1% +2 ' 0( 12 )

3$= 1. % Q

�� �� � �� ��� 7 :



- :@ � :0 � �� � @ @ � � !� :  ��

� ) -% H D. ' - 1* 1. '2 $ / / ' & 1 3$ 0% ' . ) &) 5 ' �) ( $ ' % ' H ( 6 1( '. ) & 0 & &$ $ D) % $ & 1. $ ) 3

)2 $* $% '. ) 2 ' 3$. ) /$ 1% ) 3) D2 $ '. +G $

� ) -% H � ` ) * � ( ) 6 '. ' & 1 3 ' � &. '* $ &) � ( ( ) ` ) ( ) 6 '. ' & 1 &. '* $ &) � % )2 D. ' - 1

* 1. '2 $ / / ' & 1

d G* 	H 7 ` ) $. . $2 )4 ' % &) ( ) * � ( ) 6 '. ' & 1 3 ' T &. '* $ &) �

B E

J

A

M

c ). W S� mk [ o X � �] V � � XY � � \ Y �Z ^ I( $ '

� � Y 
 � XY r +G ) � XY \ k � � X� Z ( 1% 1 $. . $2 )4 ' % &$

�� �� � �� ��� 7 �

� ? g h � ! < < � ��� : � ! � � ��  � !@ !  � : !< : � � :


 ) &$ ( $% D 12 '. * ) % &) + 1% % ) ( ( ) J 1 6 12 � &. ) ) QH� 1 D% $ + 1 6 6$ ' 3$ % 1 3$ ` ) + 1% % ) ( ( ' 3 ' '2 6$ ` 0 0% + '* * $% 1 J% 1% 3$. ) & & 1 Q� $2 + 1( & 1 $% &)* 6 1 ) ( 6 ' /$ 1 3)2 2 ' )2 $* $% ' /$ 1% ) 3$ 4 '. $ '5 $2 ) ` ) # S 	 � [ ^


 ) &$ + 1% % ) ( ( ) 6$a` 0 +G ) ( $% D 12 '. * ) % &) H

� 6 1( ( $5 $2 ) . $ 3 0. . ) � # � d '2 2 ' $% -). ) % / ' ) ( ' & &' � _c � G '. 3

� ) F 0$4 '2 ) % &) ' * 1 3)2 2 $ � # � d + 1% �� 5 6 � 	 	 0� J 3)2 % 0* ). 1 3$ ( 12 0 /$ 1% $ Q

� 
c � + 1* 62 ) &)

A B C D

1 2 3

AND

0.5 0.50.50.5

LL

L
L

1.  A  v  B  v  C

2.  C  v  D  v    A

3.  B  v  C  v    D

�� �� � �� ��� e �

�  � !@ !  � : �@ : g � � ! < � g � � : � � ?  ! < � ? . : < �� . :

, 3) ' 5 '( ) H� Q �( &. '. . ) � + '* 6$ 1% $ 3 ' 0% ' 3$( &. $5 0 /$ 1% ) 3$ + '* 6$ 1% '* ) % & 1 �

Coin

0.5	 Q b '2 + 12 '. ) 2 ' 6. 15 '5 $2 $ &` ' ' 6 1( &). $ 1. $ ' 6 6. 1( ( $* ' &' �W

� Q � 1( &. '. ) +G ) + 1% 4 ). D) '2 2 ' 4 ). ' 6. 15 '5 $2 $ &` ' W

� 0 &2 $% ) H
� b '* 6$ 1% '* ) % & 1 3 ' 0% ' . ) &) 4 0 1 &'

� 
 ) �) + &$ 1% ( '* 62 $% DH . $ D) & &'. ) $ + '* 6$ 1% $ $% 3$( ' + + 1. 3 1 + 1% 2 �)4 $ 3) % / '

� i$ K)2 $ G 1 1 3 
 ) $ D G &$% DH 0( '. ) 2 �)4 $ 3) % / ' 6). 6) ( '. ) $ + '* 6$ 1% $� � '. K 14 +G ' $% � 1% &) b '. 2 1 J � b � b QH + '* 6$ 1% ' $% ' + + 1. 3 1 ' 3 0%

6. 1 +) ( ( 1( & 1 + '( &$ + 12 ' + 0$ 3$( &. $5 0 /$ 1% ) ( &' /$ 1% '. $ ' ` ) 2 '4 ). ' 6. 15 '5 $2 $ &` '

�� �� � �� ��� e�

� : g h� ?  : g !  � ? � : �  : @ ! � ! � � ? � :

� �� ��� �� * � " # �$ ( �c Y� (,- ./ + � �/ � 01 : <; <: 5 41 Q R B < 2 C 6 9 Q , -

� � = � � 0> ,- *1 7 <B 3 <C : < 5F 96G 4 R < �3 C A3 : �� 93 : 5 2 3 456 3 7 8 5 3 9: � NI � �� � � �I � O


 P 1 : <; <: 5 F 3 5 ? � <B <Q <: 5 4

� �/ �v � � � � W �

U VP 1 6 1 : 2 9 Q 41 Q RB < C 6 9 Q � NI V n l o�� ��� NI V O O/ + � �/ � 


�� �� � �� ��� e 7



f < !g h� ?

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

�� �� � �� ��� e e

f < !g h� ?

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

�� �� � �� ��� e�

f < !g h� ?

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

�� �� � �� ��� e �

f < !g h� ?

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

�� �� � �� ��� e �



f < !g h� ?

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

�� �� � �� ��� e ,

f < !g h� ?

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

�� �� � �� ��� e :

f < !g h� ?

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

�� �� � �� ��� e �

� : g h� ?  : g !  � ? � : �  : @ ! � ! � � ? � :

c . 15 '5 $2 $ &` ' +G ) � � � � � �
 � �� � D) % ). $ 0% )4 ) % & 1 6 '. &$ + 12 '. )

� � � S � 1 3 3 3 � & ^ � 4 & U5 1 W S� U VW XYZ [\] S T U ^ ^ � W S� 1 3 3 3 � & ^+$ 1` ) I2 ' 4 ). ' 6. 15 '5 $2 $ &` ' ' 6. $ 1. $

c � ) � I � � � S\ 2  2\ 2\ ^ � ) 3 � � ) 3 � � ) 3 	 � ) 3 � � ) 3 + �( � W S\ 2  2\ 2\ ^

c 1( & 1 � � � S� 1 3 3 3 � & ^ ) ( ( ). ) $2 % 0* ). 1 3$ + '* 6$ 1% $ D) % ). ' &$ 6). 2 �)4 ) % & 1

� 1 23 3 3 2 � &

�2 2 1. ' '5 5 $ '* 1


��
 ��

�W S� 1 23 3 3 2 � & ^ � 
��
 �� � � � S � 1 23 3 3 2 � & ^
 �

� � � � S� 1 23 3 3 2 � & ^

� W S� 1 3 3 3 � & ^

b $ 1` ) I( &$* ) 3). $4 ' &) 3 ' � � � � � �
 � �� � ( 1% 1 + 1% ( $( &) % &$

,% 5 . )4 ) H �W S � 1 23 3 3 2 � & ^L W S � 1 3 3 3 � & ^
�� �� � �� ��� � �



8 ! � ! . �� ?  < : g h ��  /

�R ST V � ^( &$* ' &) 3 ' + '* 6$ 1% $ $% ' + + 1. 3 1 + 1% �

� �� ��� �� r� �� '! " #�$ ( �c Y "� � () *+ *, - *� ./ + � �/ � 01 : < 45 3 Q 1 5 < 9C l NI n+ Os � �S s �S / � S �s + 0> � *1 ; < � 5 96 9C � 9 8 : 5 4 9; <6 ) * 3 : 3 5 31 B B A� <6 9

� �/ �
	 f 5 9� W �


 P * � " # �$ ( � c Y� (, - .� � 
 3 4 � 9: 43 45 <: 5 F 3 5? + � T + �

� [� \P � [ � \
 f F ? <6 < � 3 4 5 ? < ; 1 B 8 < 9C ) 3 : 


/ + � �/ � ] # ��  Y "^� ( � [) \ .

c � ) � I( &$* '. ) R S� Xq [ V� � Yq [ � �Z Y � \ Y �Z ^ 0( ' % 3 1 � � � + '* 6$ 1% $	 � + '* 6$ 1% $ G ' % % 1 � � Yq [ � �Z Y � \ Y �Z

� $ F 0) ( &$ I� G ' % % 1 � Xq [ � \ Y �Z ) � � G ' % % 1 � Xq [ �  X �] Z �

�R S� Xq [ V� � Yq [ � �Z Y � \ Y �Z ^ � � � � �
 � �� � S� 	 2 ! � � ^ � � ) 3 � �� 2 ) 3 � )( �

�� �� � �� ��� � �

�  : �� < � � � @ ! � ! . �� ?  < : g h ��  /

�R ST V � ^ � �� � � ST 2 � ^ J 3) -� '2 D 1. $ &* 1 Q� � � � ST 2 � ^ 
 � � � S � ^ J% 1. * '2 $ / / ' & 1 &. '* $ &) � � � S � ^ QL R ST 2 � ^ 
 W S � ^ J 6. 1 6). $ ) &` ' 3$ � � � � � �
 � �� � Q� R ST V � ^ J 3) -� 3$ 6. 15 '5 $2 $ &` ' + 1% 3$ /$ 1% '2 ) Q


 0$% 3$ . ) �) + &$ 1% ( '* 62 $% D. ) ( &$ & 0$( +) ( &$* ) + 1% ( $( &) % &$ 3)2 2 ' 6. 15 � ' 6 1( &). $ 1. $

c . 15 2 )* $H + 1( & 1( $( ( $* 1( ) W S � ^` ) 6$ + + 12 '

W S � ^ + 1% 4 ). D) ) ( 6 1% ) % /$ '2 * ) % &) + 1% $2 % 0* ). 1 3$4 '. $ '5 $2 $ 3$ )4 $ 3) % / '�

�� �� � �� ��� � 7

�� A ! �� � ? ?� > !� / � ��  /

, 3) ' H E ( ( '. ) 2 ) 4 '. $ '5 $2 $ 3$ )4 $ 3) % / ' I + '* 6$ 1% '. ) ( 12 14 '. $ '5 $2 $ % 1% 3$ )4 $ 3) % / ' I

) 6) ( '. ) 1 D% $ + '* 6$ 1% ) + 1% 2 ' 2 $ K)2 $ G 1 1 3 ' + + 1. 3 ' &' 3 '2 2 �)4 $ 3) % / '

� �� ��� �� � "'� Y "� # #,$ �� " � �! "� � () *+ *, - *� ./ + � �/ � 01 : < 45 3 Q 1 5 < 9C l NI n+ Os � �S s �S / � S �s + 0>  *1 ; < � 5 96 9C F <3 �? 5 < 2 � 9 8 : 5 4 9; <6 ) * 3 : 3 5 31 B B A� <6 9

� �/ �
	 f 5 9� W �


 *! P �� " � �! � ,$ ( � c Y� (, - . "� # P  "� #" ! F ? <6 < � 3 4 5 ? < ; 1 B 8 < 9C ) 3 : 


/ + � �/ � ] # ��  Y "^� (  ") # .

� �� ��� �� �� " � �! � ,$ ( � c Y� (, - *+ ./ + � �/ � 01 : <; <: 5 1 : 2 1 F <3 �? 5


 P 1 : <; <: 5 F 3 5 ? � <B <Q <: 5 4$ ! P f

� �/ #	 f � � � W �

� � I V? 1 41 ; 1 B 8 < U V 3 : +

� T + � ! P ! q l NI Vv U V n l o�� ��� NI V O O+s 0 + U VP 1 6 1 : 2 9 Q 41 Q R B < C 6 9 Q � NI V n l o�� ��� NI V O O/ + � �/ � 
 * !

�� �� � �� ��� � e

f < ! g h� ? � � �� A ! �� � ? ?� > !� / � ��  /

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

$ � ! 3 )

�� �� � �� ��� � �



f < ! g h� ? � � �� A ! �� � ? ?� > !� / � ��  /

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

$ � ! 3 )

�� �� � �� ��� � �

f < ! g h� ? � � �� A ! �� � ? ?� > !� / � ��  /

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

$ � ! 3 )

�� �� � �� ��� � �

f < ! g h� ? � � �� A ! �� � ? ?� > !� / � ��  /

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

$ � ! 3 ) � ) 3 !

�� �� � �� ��� � ,

f < ! g h� ? � � �� A ! �� � ? ?� > !� / � ��  /

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

$ � ! 3 ) � ) 3 !

�� �� � �� ��� � :



f < ! g h� ? � � �� A ! �� � ? ?� > !� / � ��  /

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

$ � ! 3 ) � ) 3 !

�� �� � �� ��� � �

f < ! g h� ? � � �� A ! �� � ? ?� > !� / � ��  /

Cloudy

RainSprinkler

 Wet
Grass

C

T
F

.80

.20

P(R|C)C

T
F

.10

.50

P(S|C)

S R

T T
T F
F T
F F

.90

.90

.99

P(W|S,R)

P(C)
.50

.01

$ � ! 3 ) � ) 3 ! � ) 3 � � � ) 3 ) � �

�� �� � �� ��� � �

�  : �� < � � � �� A ! �� � ? ?� > !� / � ��  /

i ' 6. 15 '5 $2 $ &` ' 3$ + '* 6$ 1% '* ) % & 1 6). � �� �� 
 �� �
 � �� � ` )

� � � S� 2 � ^ � 4 �U5 1 W S� U VW XYZ [\] S� U ^ ^_ 1 &' H 6 1% ) ' & &) % /$ 1% ) ( 12 1 '2 2 �)4 $ 3) % / ' % ) D2 $4 5 6 � 54 6 0

Cloudy

RainSprinkler

 Wet
Grass

� 3 ' F 0 '2 +G ) 6 '. &) M% )2 * ) / / 1O -. ' 2 ' 3$( &. $5 0 /$ 1% )

' 6. $ 1. $ ) F 0)2 2 ' ' 6 1( &). $ 1. $

,2 6) ( 1 6). 0% 3 ' & 1 + '* 6$ 1% ) � 2 � ` )

$ S � 2 � ^ � 4 /U5 1 W SZ U VW XYZ [\] S� U ^ ^

i ' 6. 15 '5 $2 $ &` ' 3$ + '* 6$ 1% '* ) % & 1 6) ( ' &' ` )

� � � S� 2 � ^ $ S � 2 � ^

� 4 �U5 1 W S� U VW XYZ [ \] S� U ^ ^ 4 /U5 1 W SZ U VW XYZ [\] S� U ^ ^� W S� 2 � ^ J 6). 2 ' ( )* ' % &$ + ' ( &' % 3 '. 3 D2 15 '2 ) 3)2 2 ' . ) &) Q


 0$% 3$ 2 $ K)2 $ G 1 1 3 
 ) $ D G &$% D. ) ( &$ & 0$( +) ( &$* ) + 1% ( $( &) % &$

6). ` 12 ) 6. ) ( &' /$ 1% $ 3) D. ' 3 ' % 1 + 1% 2 ' 6. ) ( ) % / ' 3$ &' % &) 4 '. $ '5 $2 $ 3$ )4 $ 3) % / '

6 1$ +G �) 6 1 +G $ ) ( )* 6$ G ' % % 1 F 0 '( $ & 0 & & 1 $2 6) ( 1 & 1 &'2 )

�� �� � �� ��� ��

8 � : < < �  � ?

,% -). ) % / ' ) ( ' & &' &. '* $ &) 2 �)2 $* $% ' /$ 1% ) 3$4 '. $ '5 $2 ) H

� 6 12 $% 1* $ '2 ) ( 0 6 12 $ '2 5 ). $ I _c � G '. 3 $% D) % ). '2 )

�( 6 ' /$ 1 � &)* 6 1 I 3$ 6) % 3) % &) 3 '2 2 ' & 1 6 12 1 D$ '

,% -). ) % / ' ' 6 6. 1( ( $* ' &' &. '* $ &) i� H

� i� ( $ + 1* 6 1. &' * '2 ) F 0 ' % 3 1 + �` ) * 12 &' )4 $ 3) % / ' J( 1 6. ' & & 0 & & 1 ' M4 '2 2 )PO Q� i� $% D) % ). ) $% 3$ 6) % 3) % &) 3 '2 2 ' & 1 6 12 1 D$ '� i ' + 1% 4 ). D) % / ' 6 0` 1 ) ( ( ). ) * 12 & 12 ) % &' 6). 6. 15 '5 $2 $ &` ' 4 $ +$% ) ' � 1 �

�c 0` 1 &. ' & &'. ) + 1* 5 $% ' /$ 1% $ '. 5 $ &. '. $ ) 3$ 4 '. $ '5 $2 $ 3$( +. ) &) ) + 1% &$% 0)

�� �� � �� ��� � 7


